
Solve Two-Step Equations #3
Name _______________________________________________________  Date _________________________

5h − 11 = 9

–8k + 13 = 85

6(f + 28) = 66

–3r − 18 = –33

–75 = –5(c − 26)

7v + 9 = –5

–3(n − 17) = –18

4z − 12 = –36

5(m − 19) = –60

–12q − 59 = 25

7(s − 12) = –28

10(x + 34) = –90

2(d − 35) = 26

52 = 8p − 44

–99 = 11(y + 15) 

Solve each equation.

Answer Key

h = 4

k = –9

f = –17

r = 5

c = 41

v = –2

n = 23

z = –6

m = 7

q = –7

s = 8

x = –43

d = 48

p = 12

y = –24
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